(2) X %=
7. BRE. FREE
a. —E&IE =3 [NO]

XEPAUFEICOESEE

RS R6
B TE #h 2 IEH =
= 78 | 108 | 28 | TP E
= [EBAEEH 8) 7 7 T 2
g I 7E B (B5F9) 168 168 168 504
B [ATHE (EREEETYE) em | 0.002| 0.003] 0.004] 0.003
g 1 EEEORSE (em | 0.004] 0.026] 0.038] 0.038
BEHENRSE wem | 0.002] 0.007] 0.007] 0.007
b. —ERLZ % [NO,] SEBRAEI DS EE
RS R6
A A ; 1 1
E 5H 7R 10R 2R FRHE
H3EE B 8) 7 7 T 2
A B P @m | 168| 168] 168] 504
BAEHE (EREXETHE) (ppm) [ 0.002| 0.006] 0.013| 0.007
1BEREOESE om | 0.006] 0.023] 0.038] 0.038
. BENEORSIE om | 0.002] 0.009] 0.019] 0.019
. - . G 0 0
0T | 1 ESRMEAN. 2ppn A8 % TSR 0 H2
EE (%)) - - - 0
. (B5R8)
;g 1 BSRSEAR0. 1ppmil 0. 20pmil T (B RS 2K (U/F: o0 o 0 8
0 - . .
‘ i 0
B BA0. 06ppn £ 48 % 1= BB ((';'; 0 9 8
0 - . .
B FE44EAHY0. 04ppmLL £0. 06ppmLL T B %1 (('j)) - 0 - 0 - 0 8
08Y%EHA 1= & % H FHI{EAO. 06ppn% #2 2 7= B 2K @) 0 0 0 0
c. EFREE{EH [NOK] XEPAEIZ O ESEE
RS R6
B e ; "
E EE 7ﬁ 10ﬁ Zﬁ Eﬁzﬁﬂ_
BMEEAH 8) 7 7 T 2
?T 3Bl BE R o 168| 168] 168] 504
& BEHE (EREXEFEHE) (ppm) | 0.003| 0.008| 0.017| 0.010
X 1EMEONESIE (oom | 0.008] 0.035] 0.077| 0.097
= |BTMEORSE (oom | 0.004] 0.015] 0.026] 0.020
NOX (NO+NOz) 7= Y (ONO2 (& FHfE) W | - - - 70.0
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d. fuhbFIR M E [PM2. 5]

SGEERIE
B EE HHSE THOE | g
AR |5B |6B | 7R |8A | 9A (10A|11A|12R|( 1R | 2R | 3R
EBIEBH (a2) 30 31 30 31 31 30 31 28 31 31 29 31 364
T B 308 ERE (BFRE) 718 739 719 742 742 719 739| 689 743 743] 695 743 8731
,_I:;-L_J: AEHIE (FEEXEFHIE) (ug/ms) 6.8 5.4] 3.9/ 5.7 3.9/ 3.5] 3.8 4.7| 6.0 8.6/ 7.5| 6.1 5.5
% 1HEEORSE (u g/ms) 28 50 16 18 31 13 22 30 39 50 39 29 50
AT BEHEORSIE (ug/m3> 15.9]1 16.7| 9.4| 10.3| 8.5 5.8] 10.5| 12.9] 16.8| 21.6] 23.5[ 15.5 23.5
BEE35 u g/ miBE R ) 0 0 0 0 0 0 0 0 0 0 0 0] & 0
1. BEEIE
a. _m1b§§ [No] -~ —m{bgi [NOZ] Xﬁ,ﬁﬂiﬁ'lil:c %%%ﬁg
£
S 5 1
et =B R1 R2 R3 R4 RS
—®it=%(pm | 0.003] 0.004] 0.003] 0.003] 0.002
ma ki3 T 44 (8
FARTEEAH FEHE —mit=%(pm | 0.006] 0.005| 0.007| 0.007| 0.007
b. #uMIFIRYE [PM2. 5]
FE
A E Hh g I
A R R1 R2 R3 R4 RS
EMAEAR (8) 361 362]  362| 358] 364
FEFIE (g /m®) 57 5.3 53 538 55
HIETHRR B T 19180 £ [998%{E (e /md) 16.4] 193] 15.4] 172 16.7
B F 51l 35pg/m’ £2:8 B (A) 0 0 0 0 0
H F 1 il35ug/m BB EIS (%) 0.0 0.0 0.0 0.0 0.0
SCR5 (4R
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